


In the following questions, some part of the sentence may 

have an error in it. Find out which part of the sentence has 

an error and select the appropriate option. If a sentence is 

free from error, select 'No Error'. 



The pollution level in the capital city Delhi (A)/ 

continued to remain in the ‘very poor’ (B)/ category 

for the fifth consecutive (C)/ day were overall AQI 

currently at 336, according to SAFAR data at 7:30 

am.(D)/ No error (E)

1. A

2. B

3. C

4. D

5. E



United States President Joe Biden's (A)/ participation 

in the 28th United Nations (B)/ "Conference of the 

Parties" on climate (COP28) (C)/ remains uncertain, 

with sources suggest he is unlikely to attend. (D)/ No 

error. (E)

1. A

2. B

3. C

4. D

5. E



A 24-year-old Indian student have (A)/ been 

stabbed with a knife in (B)/ the US state of 

Indiana and (C)/ is reportedly in a critical 

condition. (D)/ No error. (E) 

1. A

2. B

3. C

4. D

5. E



The Akhaura-Agartala cross-border (A)/ rail link 

project has been executed (B)/ with an Indian 

grant by (C)/ Rs.392.52 crore extended to 

Bangladesh. (D)/ No error. (E)

1. A

2. B

3. C

4. D

5. E



In the questions given below, a word is given in bold 

followed by three sentences. Find the sentences which 

have used the word correctly and mark that as your 

answer. 



SCALE

A) "The architect needed to scale down the design to fit the 

budget."

B) "The map showed a 1:10,000 scale, making it easy to 

calculate distances."

C) "She wanted to scale the mountain, but her fear of 

heights held her back.“

1. Only A

2. both A and B

3. only C

4. both A and C

5. all are correct



EVALUATE

A) The teacher needs to evaluate the students' performance 

on the final exam.

B) He decided to evaluate a delicious dish by trying it at a 

local restaurant.

C) The company will evaluate the market research data 

before launching the new product.

1. Only A

2. both A and B

3. only C

4. both A and C

5. all are correct



DEMONSTRATE

A) He attempted to demonstrate his gratitude by giving her a 

heartfelt thank-you card.

B) The teacher will demonstrate the scientific experiment to the 

students.

C) She used a model to demonstrate the concept of solar eclipses.

1. Only A

2. both C and B

3. only C

4. both A and C

5. all are correct



IMPLEMENT

A) The company decided to implement a new employee 

training program.

B) The chef tried to implement a gourmet recipe for the team-

building exercise.

C) She wanted to implement a novel of suspense to her 

morning routine.

1. Only A

2. both A and B

3. only C

4. both A and C

5. all are correct



COMPROMISE

A) "She compromised with her friend by eating ice cream 

for breakfast."

B) "The detective compromised the crime scene by 

collecting too much evidence."

C) "The two parties were able to compromise and reach 

an agreement on the contract terms."

1. Only A

2. both A and B

3. only C

4. both A and C

5. all are correct



In the following questions, you have a passage where 

some of the words have been omitted. Read the passage 

carefully and choose the correct answer to each blank out 

of the five alternatives.



In Gazipur, the protesters were seen (A)_______stones at many 

shops, while in Dhaka's Mirpur area, hundreds of 

(B)______chanted demanding (C)_______wages. Some were 

seen (D)_______vehicles. Others chanted (E)______as security 

personnel (F)______the area.

Which of the following options will fill the blank A? 

1. Gathering

2. Selling

3. Throwing

4. Protecting

5. None of the above.



In Gazipur, the protesters were seen (A)_______stones at many 

shops, while in Dhaka's Mirpur area, hundreds of 

(B)______chanted demanding (C)_______wages. Some were 

seen (D)_______vehicles. Others chanted (E)______as security 

personnel (F)______the area.

Which of the following options will fill the blank B? 

1. Bystanders

2. Agitators

3. Workers

4. Spectators

5. None of the above.



In Gazipur, the protesters were seen (A)_______stones at many 

shops, while in Dhaka's Mirpur area, hundreds of 

(B)______chanted demanding (C)_______wages. Some were 

seen (D)_______vehicles. Others chanted (E)______as security 

personnel (F)______the area.

Which of the following options will fill the blank C? 

1. Better

2. Lower

3. Fair

4. Unchanged

5. None of the above.



In Gazipur, the protesters were seen (A)_______stones at many 

shops, while in Dhaka's Mirpur area, hundreds of 

(B)______chanted demanding (C)_______wages. Some were 

seen (D)_______vehicles. Others chanted (E)______as security 

personnel (F)______the area.

Which of the following options will fill the blank D? 

1. Defending

2. Repairing

3. Honouring

4. Vandalizing

5. None of the above.



In Gazipur, the protesters were seen (A)_______stones at many 

shops, while in Dhaka's Mirpur area, hundreds of 

(B)______chanted demanding (C)_______wages. Some were 

seen (D)_______vehicles. Others chanted (E)______as security 

personnel (F)______the area.

Which of the following options will fill the blank E? 

1. Marching

2. Negotiating

3. Slogans

4. Surrendering

5. None of the above.



In Gazipur, the protesters were seen (A)_______stones at many 

shops, while in Dhaka's Mirpur area, hundreds of 

(B)______chanted demanding (C)_______wages. Some were 

seen (D)_______vehicles. Others chanted (E)______as security 

personnel (F)______the area.

Which of the following options will fill the blank F? 

1. Patrolled

2. Organized   

3. Danced

4. Gardened

5. None of the above.
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